Remember: 1m = 100cm

1)@ Zm = 50 m
(d) 5m = ) .
(@) 5m = 90 o
2) @ 0.1m- M
(d 0.6m= 60 cm
(@ 09m- BB
(3) @ 10cm - N
d 70m= 0" Fm
(@) 75cm = SIDm
® @ 110m - N
(© 208cm = & m

() 301ecm = <)

3
(®) @ 130 = g 'm
@) 270cm - G
@(a) 120cm = S
d 280cm=a& & m

®)
(@) 310cm - MM

@ Put < = or > between each pair.
@ 160cm = 2 15m

(d 350cm =

3.5m

(b)
(e 2m 10cm =

i = B ©

zm
((b)) S 30 m ®
e 10 3
W &n- B O
&) O5h = 50 m ©
i ®
(e) 08m= B8 0
() 03m - HESMcm
. )
® 30cm - SAm
@ 40m=0%m (_ﬂ
h 82m= 08m v
. ) 175cm =
g i (d 290cm =
| M 420cm =

[
® 150m= 17 m (©
Gl
(&) 260cm= <0 m ®

150m= 1S5 m (o

Tm 20cm
2.1m

1:2m

@) 4m 90cm 521 460em ) 280cm | < 28

(@) The black car is ?O
1992

(b) The blue car is

() The bus is 65

@ SN

cm longer than the red cqr

m longer than the red car.

m longer than the blue cqr
(@ If all 4 vehicles were

(iii)

parked one direct|
what would the totq| lengt

(b’ 9\[ ‘m 2@ cm

h be?

l%~ o e

In = S o
1—7’0"\ — :}'o Cm
in = @ o
0.7m = HEiCM..
02m= 20 cm
0.4m = RGN
50cm = O '5Om
80cm = Ogom
95cm = 0 ‘QSm
I m ?5 cm
&l a0 cm
l+ m &O cm
]
210cm = 2To m
-
290cm = 27
230cm = 25,
370cm = R

© 24m 20 o8
® 3%cm..§.l 3.9m
O  43m "= 420

2m 90cm

Y behind the other,

41m

: i m

108m




f ) Write as centimetres

(d) 7oom qu cm te)l & !

S I8 tm (e ba
" i 00M = ?6 Q) e < M
Cm 2 ) What fraction of g Metre qre e fog tm 0 & :1\ M
22 "Olow;i b} ioom = q
B (@ Tdem = 5 ing? m
X @ 59 ST O e
cm = ~ =
0o m (e) 8‘]cm : l&\?o m © 346 o 39
~ ) o0 m
n (3) @ 1em= 100, S 5 O] Gy 2
m = 05, O'm
m

4 8cm= 0:
(d) cm &Sm (©) 59 06‘1 ) 4o - O.%m
m

@@ 2cm - B, _ 0703, ® 99 . 099

(c) 37cm = i‘g% m = 80 3:}_ (b) bcm = Téé i 006
A @ 93 .. IR
@ This graph shows the height of each memp, (M = SaMm - O%m
er

(@) Read the informatiq

f Anne” ;
n bel O Anne’s family,
(¥ w e 9graph q i

nd fill in the Missing names

150

100

cm

50

jl,_(}d ‘ﬂlcU'\, Anne IS;[M“(VL ﬁﬂ d LS A} son

(@  Anne’s sister Alison is 0.25m taller than Anne
(u) Their baby brother Andy is 75cm shorter than Alison
(i) Andy’s mum is 0.05m shorter than his dad. -

(iv) Anne’s older brother Alan is 0.1m taller than his dad.

(b) Fillin the gaps.

/ (D) Dad is [ 6% tall. @ Mumis | 6Om tall
i) Alison is | %m tall @) Anneis | 20m tall
(v) Andy is 0 #0m tall W) Alanis [ 3 m tall.

() Alan is 1.05m taller than ;
(d) _MLAAL is 0.5m shorter than _%

(e) l is 7m less than 2m tall.

® M is 0.3m taller than _AL(&M




{ ) Change the lf“f(“\’\-"u;

o m ond em
(@ 218cm = ol m &
(¢ 106cm = m 6 i (b) 320 .
(2) Write the foHowmg as Centimetre, (d) 402¢m
@ 1m 27cm ~ SGRY(h) 3 A
(@ 4m25cm = 435 ™ Som < KU, W

smile) Om lem = D)
m

Write the following as metres Using the dec:
eCimq|

2m 7C<'r-. = o0
3m 8(”’\ = 303 S

) Jom= BN point.
(a cm %:”m (b) 30cm 3 e
(d) 60cm = M@ 1100y . ] O 9%5ana .qsm
m
@ Change the following 1, Metres. D 207am L0t
-IB
(@ Tkm 350m = 6850, Tkm 90m - 1,090 _ (
(& 2km 402m = W0, (. 3 10 . . O 2o HRE, L
' - m =Ksln o 4km 50m = "h(ﬁDm
@ Write the followmg as kilometres and metres.
1250m = l
S & 3 & 951% m ® 2004m~ & Qo4 |
(© 3010m =
: St m @ 7004m ~ [N, N |
@ Write the follow[ng as metres.
@ #km= 280 ®) km= 100 © *m- KON,
@ Hkm= 300 (e 13km= La60 M #m- KGN
@ 1dkm=LI00m 4y opm- BEWL, 3t = IR0 |
@ What fraction of c: km are the following?
3 i
@ 100m= "T0 km (b)) 750m= § km (@ 400m = - 5 km
[ 3
(d) 800m = Tg km (e) 250m =/ Tg km ® 300m= "T5 km
150
(@ 200m = % km () 600m = %’ km ® 150m = = Joookm
Put <, = or > between these pairs. ¢
@ 15km > Tkm 450m ® 2km 10m S 2.1km
— Lkm = 0
(© 3zkm = 3km 200m (d) 47okm AL AN
M 48km = 4¥m

(&) 5km 100m BeS 58m




0 00

.67+ 15 >

. What is the difference

o v or ow

80 (<, » o,

betw,SQH 5,674 and 5 454>

20

L
. 02%x10)-09 = -9
(05 + 10)~ 0.1 - 5:01.}
Write 13 4 S
12 a mixed Number [ -k
e )

ount in ninths up to 1

g o 4 - OR

6
Yo, P, e,

. Measure this line. H_QA/L

- 025.05, 075, NN W5 5
- An apple costs 43c. W

8 apples cost £3 Lk

.= H‘ minutesto‘@

s 3% litres = 350 ml

%5

15.

16. What

is unshaded?
33

100

350 —
17. 35%10) + 15 = 365

x8 of a number is 25.
The whole number is Lt‘O

fraction

18. Which is lighter,
1:5kg or 1,050g? l,oﬁoﬁ
19. How many sides has

a pentagon? 5
20. Draw a diagonal line.

Problems

21. Take a hexagon and add an equilateral triangle on each of its sides.

22.

23.
24,

Fit the triangles exactly. What is the name of the 3-D shape ; /‘\
ranud

you have created and how many faces has it got?

A family travelled from Cork to Dublin. The

travelling and took a break for 20 minutes.
at what time did they set out on their journey?

7 BRiaae
r book and found that the sum of the facing pages was 245.

What pages did she open? 32+ 133

Pat cooked 1-5kg of cocktail sausages fo

efi? 600 o° 0-6kg ‘, - Lalin

=730 )
(32.:2N |
1 "";.“I EL.

Dublin at g
What is % of aL%—O_fin

Jane opened he

Only —53 were eaten.
What weight of sausages Wds

r a party.

y spent 1% hours - 0
If they arrived in \J

= dhsdmon|




week 1q Test

12. Find the difference between

00 oo (930). 2436

/A
1. 6,440 + 202 = 66‘t

l _g55 . 13. What is the chance of being at schq | 1': ‘
; 2. 500 - T ﬁ‘ f at 4 in the morning? / . b
E‘ 3. (9‘>< Ix3= ’S’I' ' (likely, Gnlikely or certain) 4 e
{ 4 (8- 100 +04=_1_ I/é © 14. The capital letter W has g
i L st terms. S ~ | |
1 5. Write 2 i jts lowe 5 5 ‘
\} . B { 7% q — Ql x (horizontal&r_ti'cgl’)’ line of symmetry.
j‘ 7]9] I R - o
i 10 : ‘
; 7. Write the largest de.CI.mGl. rac A SO I l 50 b |
3 possible using the digits ! ——1 = :
[ f q,7,5and 1. 925"! 17. This js the net ;
;‘ 8. How much heavier is ?2.55kﬂ of a : |
- -95kg? A :
J’ S6SEgfhon 23 e . 18. Write 22 as an e ‘
| 9, €50-€2730 ﬁ&?o improper fraction.” 3 :

|

10. gofa number is 33. 56 19. Write in 20 to 4 iep

What is the whole number? analogue form.

20. What type of angle /
is shown? (b‘bl/_)e, =

€575, [R-95.

11. This 3-D sha e}gM“L
is ol 1 -

It has 5 vertices.

Problems €%-707 445
21. Susan saved €575 and her friend saved €870. €150s 0% 'so
Together they want to buy some new books costing €18-95. ‘
’ How much more money do they need to save? T-50 1.95
22. A carpenter had a plank of wood S%m long. i‘tgg? e i 4Qm 5

He cut a piece 2%m off the plank and then cut another pigce 145cm off.
|| How much was left? [*8Om ey (f 3.0
23. John drinks 2:33 litres of water each day. 228
How much water does he drink in a week? ML lz)_‘_;‘_‘

24, ATV Programme started qt | )
There were two 5-minute advertiseme
Programme end?

| 25. What number s 315‘less than 56 times 23? ﬂ}} ‘23‘




